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■ 漸化式
p0
q0
r0
s0
t0

 =


1
0
0
0
0

 ;


pn+1

qn+1

rn+1

sn+1

tn+1

 =


0 1/4 0 0 0
4/4 0 2/4 0 0
0 3/4 0 3/4 0
0 0 2/4 0 4/4
0 0 0 1/4 0



pn
qn
rn
sn
tn

 , n = 0, 1, 2, · · ·

で定められる点列 { (pn, qn, rn, sn, tn) } の一般項を求めよ．

（解） 関係式

pn+1 =
qn
4
, rn+1 =

3 (qn + sn)

4
, tn+1 =

sn
4
, n = 0, 1, 2, · · ·

より qn，sn を求めれば良い．q0 = 0，s0 = 0，q1 = 1，s1 = 0 より，

qn + sn =pn−1 + rn−1 + tn−1 = qn−2 + sn−2 = · · ·=

{
q0 + s0 = 0 (n : 偶数),

q1 + s1 = 1 (n : 奇数),

qn − sn = pn−1 − tn−1 =
qn−2 − sn−2

22
= · · · =


q0 − s0
2n

= 0 (n : 偶数),

q1 − s1
2n−1

= 21−n (n : 奇数)

が得られ，

qn =

0 (n : 偶数),

2n−1 + 1

2n
(n : 奇数),

sn =

0 (n : 偶数),

2n−1 − 1

2n
(n : 奇数)

となる．したがって，n ∈ N に対して

pn =
qn−1

4
=

0 (n : 奇数),

2n−2 + 1

2n+1
(n : 偶数),

rn =
3 (qn−1 + sn−1)

4
=

0 (n : 奇数),

3

4
(n : 偶数),

tn =
sn−1

4
=

0 (n : 奇数),

2n−2 − 1

2n+1
(n : 偶数)

と表せる．
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